variance & standard deviation of a portfolio

Here's the problem:

Stock A has a standard deviation of return of 50%.  Stock B has a standard deviation of return of  40%.  The two stocks have a correlation of 60%.  What is the standard deviation of return of a portfolio that is 25% Stock A and 75% Stock B?
Here are the equations I have:
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The Variance of the Portfolio
Var(portfolio) = Xj07 + 2X,X,0, 5+ X307




and
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** But I think I’m not given enough information in the problem to be able to use the equation. Help please.

And then I found this resource online:

http://faculty.london.edu/jdow/stats.pdf

But I’m still confused as to how to solve the problem.
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